ASHLAND
INDUSTRIES

Parts Manual

WG950-003 10-18

Address

Fax
= il << Website
LAND FORMING EQUIPMENT

N =
b (Y

24298+

1115 Rail Drive
PO BOX 717
Ashland, WI USA 54806

(877) 634-4622
(715) 682-4622
(715) 682-9717
www.ashlandind.com


http://www.ashlandind.com/

Table of Contents

Introduction 3
Scraper Specifications 4
Assembly 5
Bowl 6
Rear Wheel Assembly 7
Pushoff 38
Apron 9
Front Section 10
Ball/Socket Assembly 11
Pole 12
~ront Wheel Assembly 13
_ift Cylinder 14
Apron Cylinder 15
Pushoff Cylinder 16
Transport Locks 17
Hydraulic Lines 18
Hydraulic Tube Clamps 19
Manifold 20
Decals 21
Operation & Maintenance 22
Safety Guidelines 25
Tire Inflation & Torque Chart 26
Tire Service 27
Hub Service 28
Troubleshooting 29
Warranty Statement 30

PH: 715682-4622 2 www.ashlandind.com


http://www.ashlandind.com/

A\

Thank you for choosing an Ashland scraper for your earthmoving needs.
Years of research, testing, and successful application have been spent to
ensure quality and maximum performance for our customers.

Introduction

Quality Policy

LO A& 2dzNJ YAdaA2ZYy (2 SEOSSR 2dzNJ Odzad2YSNH
through continuous improvement and customer interaction.

Please read and understand this manual before attempting to attach or operate this
scraper, This manual should always remain with the machlne Be sure and fill out and
AaSYR AY UGKS 246ySNXa& NBIAAUGUNIGAZY F2N¥Y | {
outtheformont AyS o0& 3J2Ay 3 02 I-aKfIyR)\YRdbozY |
the Parts section dropown. If you have questions, please feel free to call or emall

us. You can visit us éme atwww.ashlandind.com

Ashland Industries hours of operation are 8:00 a.m. to 5:00 p.m. CST. We can be
reached toll free at: 87-634-4622.

Scraper ID Number

You can find the serial number plate foost machines on the right side of the

scraper In the top corner of the bowCS models will have plates on the front herse
head or front section. The letter and numbers stamped identify the serial number,
model number, and capacity of the scraper. Please record this serial number for use
In ordering parts, warranty issues, and to track your equipment if it is ever stolen.

A\ ASHLAND |O
INDUSTRIES
shla d l 54806

www.ashlandind.com

Important

Parts must be ordered through your local authorized ASHLAND dealer. Be sure to
state MODEL and SERIAL NUMBER of your machine. Ashland Industries Weldable
replacement parts are also available to rebuild, modify, or update your scraper to
current factory specifications.

PH: 715682-4622 3 www.ashlandind.com


http://www.ashlandind.com/
http://www.ashlandind.com/

N\

Scraper Specifications

Capacity, Struck /.5 Cubic Yards
Capacity, Heaped 9.5 Cubic Yards
Overall Dimensions:

Length 276-1/2 Inches
Width 100 Inches
Height 81 Inches
Apron Clearance 55 Inches
Weight: Empty 8,100 Pounds
Cutting Width 87-1/2 Inches
Depth of Cut 8 Inches
Depth of Spread 0¢13-1/2 Inches
Blade: # Piece

Center 3/4 x 8 x 54 Inches
Corner 3/4 x 6 x 151/4 Inches
Cylinders:

Apron Two (4 x 13 Inches)
| ift Two (4 x 16 Inches)
Pushoff One (4 x 50 Inches)
Horsepower Requirements:

Single (Tractor) 140¢ 300

PH: 715682-4622 4 www.ashlandind.com


http://www.ashlandind.com/

Assembly

ltem Part Number Description
1 701007 Bowl

2 702007 Pushoff

3 703004 Apron

4 704025 Front Section
5 705009 Pole

PH: 715682-4622

www.ashlandind.com


http://www.ashlandind.com/

Bowl

ltem Part Number Description

1 A8029A Blade: Corner 3/4" x 6" x 164" Right (4 Bolts Required)
2 A8031A Blade: Corner 3/4" x 6" x 164" Left (4 Bolts Required)
3 A8030 Blade: Center 3/4" x 8" x 54" Straight (6 Bolts Required|
4 ¢ Optional |A8030GSER Blade: Center 3/4" x 8" x 54" Serrated (6 Bolts Requirec
5 PB8PNCG063-0200 | Bolt: Plow 5/8“11 x 2"

6 AFNO00050 Nut: 5/8"-11

7 A12321543 Pin: £1/8" x 6-:3/8" w/ Square Head

8 A125006 Pin: 1/4" x 21/2" Wire Snapper

9 AFP00002 Pin: 3/16" x 2" Cotter

10 A8056 Pin: 23/4" x 7-3/4"

11 AFB00113 HHCS: 1/213 x 31/2"

12 AFNO00011 Nut: 1/2"-13

13 A123363 Pin: 21/2" x 41/8" w/ Square Head

14 AFWO00016 Washer: 11/2"

15 AFPR00010 Pin: 1/4" x 2" Cotter

16 600993 Pin: 21/2" x 45/8" w/ Tab Head

17 Al123351 Bushing: Pin Keeper w/ Flange

18 AFB00015 HHCS: 1/213 x 11/2"

19 A8062 Pin: £1/4" x 7-1/2" w/ 2 Cotter Pin Holes

20 AFP00001 Pin: 1/4" x 3" Cotter

PH: 715682-4622

o www.ashlandind.com


http://www.ashlandind.com/

